
TES Apportioning Logic

How many 
records are 

there?

Apportion Full Charge 
Amount to the 1 record

1 (1 Edit or No Edits)

How many 
uncleared 

records are 
there?

> 1 (Multiple Edits Exist)

Apportion Full Charge 
Amount to the 1 
uncleared record

1 (1 Uncleared Edit)

Apportion Charges 
across all uncleared 
records except “CM 

review Required”

> 1 (Multiple Uncleared Edits Exist)

Apportion Charges 
across all cleared 

records except “CM 
review Required”

0 (All Edits are Cleared)

RULES

- If claims manager review required is the only edit, then all apportioning goes to that record
- If there are no edits, then all apportioning goes to that record
- If there are uncleared edits, then apportion across all uncleared edits (except CM review, unless it is the only record)
- If there are no uncleared edits, then apportion across all edits (except CM review, unless it is the only record)
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